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[1 61.scientist studies the migration trend of a group of geese. The
group contains 30% male geese. Among the geese that later on
migrated, 20% are male. What is the ratio of migration factor for
male geese to the migration facotr for female geese? (migration factor
for sex X = number of migrated individual with sex X/total number
of individuals with sex X)Solution: Assume total geese X, of which Y
migrated.The answer is simple
[(20%Y)/(30%X)]/[(80%Y)/(70%X)] = ...62.Some guy has 6
albums of anthology from which he read one poem at least. Al
peoms in the albums are different. Did he read more than 6 poems
from at least one of the aloum?a) he has read 22 poems in total.b) the
numbers of poems he read from each aloum are all distinct. Anwser:
C63. k, |, m are positive integers, does k has more prime factors than
ma) k = 30Ib) m = 10~kAnswer: C64.sqrt{2sqrt(63) 2/[8
3sgrt(7)]}Answer: 465.two right cylinders, A and B. radius of A is 2
times radius of B. height of A is half the height of B. If Bs radius is X



and Bs height is y. What is the difference between surface area of A
and that of B.Solution:As suface 2*pi*(2x)"2*(y/2)
pi*2*(2x)*(y/2)Bs surface 2*pi*x”2*y pi*2xyDifference = As - Bs66.
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